PHYS 212 Exam 1 Name kK &= \’(

Problem 1 (33 Points)

The Eiffel Tower (Fig. below) is built of wrought iron approximately 300 m tall. Estimate how
much its height changes between January (average temperature of 2°C) and July (average

temperature of 25°C). Ignore the angles of the iron beams and treat the tower as a vertical beam.
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PHYS 212 Exam 1 Name

Problem 2 (34 Points)

Three charged particles are placed at the corners of an equilateral triangle of side 1.20 m (Fig.

below). The charges are: Q;=7.0uC, Q2=-8.0 uC and Q3=-6.0 uC

a) Draw all the forces acting on particle 3:

b) Calculate the-magnitude and direction of the net force on charge 3 due to the other two.
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PHYS 212 Exam 1 Name

Problem 3 (33 Points)

When a 290-g piece of iron at 180°C is placed in a 95-g aluminum calorimeter cup containing
250 g of glycerin at 10°C, the final temperature is observed to be 38°C.

Estimate the specific heat of glycerin.
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